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2. The height of an object after t sew{ﬁﬁ& given by h = B0 « 50t - 1812 (feet).
g, What i3 the initial position @g?
b. What is the velocity and acchleratich whent = 17 S 3a 2
c. Is the object going up or down when t = 27 - CeTee
b= Lol v SO %y L -3
\' 2 — . Yy e - v R o y
L KL s032= 19 fen = =52 ffsu & goit
e , ’ /&,
T A Y R e Do v R
’ (-
3. The graph below gives y = 7(t). 7
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From the graph carelfully estimate: ey
a. 7(8) b. {3} £ oy nistEpl
C. The instantansous rate of change of 4 whan { = 2.
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4. The maximum value of y.
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